Chemistry Practice Exam #1 Key
Name  ___________________________________

In order to receive credit for a solution, you must show all your work.

Always write units in your answer and use the correct number of significant figures.

1) (10points)

Do the following conversions:

	a)  81.2 g to ng
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	b)  18.3 mile/gallon to km/L
Note:  1 mile = 1.609 km and 1 gallon = 3.785 L
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	c)  4.569 x 10-3 ml to L
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	d) 12.8 mm2 to in2
Note:  1 in = 25.40 mm


[image: image4.wmf]2

2

2

2

10

98

.

1

40

.

25

1

8

.

12

in

x

mm

in

mm

-

=

÷

ø

ö

ç

è

æ



	e) 1.87 mL to L
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2) (6 points)
Perform the following mathematical operations and express the results to the correct number of significant figures:

	a) 9.24 + 18.376 + 0.1
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	b) (5.00 x 10-3) x 18.432
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3) (15 points)

Answer the following True or False:

a) In the molecule CO, the O has a charge of -2.
F – CO is a molecule so there are no charges on the atoms of this molecule.
b) Nitrogen gas exists as a diatomic molecule.
T – As an element, nitrogen exists as N2, a diatomic molecule.
c) The burning of gasoline is an example of a physical change.

F – Burning gasoline is a chemical change in which products (mostly H2O and CO2) are made.
d) Density is an extensive property.

F – Density is an intensive property – it is independent of the amount of the substance considered.
e) Sodium nitrate is an example of an ionic compound
T – Sodium is a metal so sodium nitrate is an ionic compound.
4) (5 points)
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has:

a) 25 protons, 21 electrons, 26 neutrons

b) 25 protons, 25 electrons, 26 neutrons

c) 51 protons, 25 electrons, 51 neutrons

d) 25 protons, 25 electrons, 25 neutrons

e) 51 protons, 46 electrons, 32 neutrons

The answer is a)
5) (15 points)

Give the formulas of the following compounds:

	a) Sodium fluoride
NaF

	b) Hydrobromic acid
HBr

	c) Chromium (III) cyanide
Cr(CN)3

	d) Magnesium phosphate
Mg3(PO4)2

	e) Disulfur dichloride
S2Cl2

	


6) (15 points)

Give the names of the following compounds:

	a) FeCl3
Iron (III) chloride

	b) Rb2SO4
Rubidium sulfate

	c) SO3
Sulfur trioxide

	d) (NH4)2CO3
Ammonium carbonate

	e) HClO4
Perchloric acid

	


7) (20 points)

a) Chlorine has two naturally occurring isotopes, 35Cl (with a mass of 34.969 amu and a natural abundance of 75.78%) and 37Cl (with a mass of 36.966 amu and a natural abundance of 24.22%).

Calculate the average atomic mass of gallium, showing all your work.
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b) There are 6.022 x 1023 amu’s in one gram.  One atom of 37Cl has a mass of:
I) 36.966 g

II) 6.1385 x 1023 g

III) 6.1385 x 10-23 g

IV) 6.022 x 10-23 g

V) 1.0000 g

The answer is III):  
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c) One amu is the same as:
I) 6.022 x 1026 kg

II) 6.022 x 10-26 kg

III) 1.661 x 10-27 kg

IV) 1.661 x 10-21 kg

V) None of the above

The answer is III):  
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8) (15 points)

Balance the following chemical equations:

	a) Al  +  MnO2  (  Mn + Al2O3
4Al  +  3MnO2  (  3Mn + 2Al2O3

	b) Fe  +  O2  (  Fe2O3
4Fe  +  3O2  (  2Fe2O3


	c) HBr +  KOH  (  KBr  +  H2O

HBr +  KOH  (  KBr  +  H2O

Balanced as is.
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